TERAIUVAR—5—

1t %k
i | IEREIVIRILAN—5—
il X | HCE—1300EL (2r:670x670)
@ # 1 = | 1300kg(RAEE20%)
& K # % | 150m
g B &E E | 0.43ms(25.8m. min)5060Hz
# 2% A T & | £24200mmX1E1200mmx=&2100mm
BE B O ~f & | 4050mm
= Ik & Fi | EEOE
B® F A X | WBAFEEEGIRE
W2 EWMA | BELETHEE
AF—URKRA | FEESIET7I-TA R
R & A KX | Fvr-E=FEREIAR
RERMANX | EAAK
1 B S 8 | 11kw—4P(2%)

f#t #& E & | =837 4007440V, 50, 60Hz
# 2 B B | =#83%% 400440V, 50 60Hz
BENETIALEE
BRETERALEEE

BT ERRE
FEEFEIER1VF
18—k
LT £ K B | LATEIPAFIVIIINIAvF
R TEESIRRUIVRZAyF
Ny T7RTYLY
EREVIVNyF
Wm0y VEE
BARGLEEE
i & i
1 KZh (670X670)
2 Pkt
3 EREHTL— L0
4 BEOLESLE
5 Ny TP RTYLY
6 ~N—2Z
7 BENETRALRE
8 s
9 FLh—FILk M24
10 =TIV T —L(FTar)
R h =* (kN)
[z=¥%] 30 | 50 [ 70 | 90 | 110 [ 130 [150m
P1 | 73.8|92.7 [111.7]130.6(149.6|168.5/187.5
P2 110.2
[P3) -
Nx 24.546
Ny 18.665

JL—h—RE(A) | 400V 75A |

(0
-

YBROTA: 4460

2230 . 2230

670

HCE— 1 300EL ¢#xr:670x670)

690

610

1200
WERES
1300

Wiz 105

1810

NE

' D
100 4260 100

(2%7) (2%7)

(z4%)

(¥ )

o B
=18
AN mg
7 5/7““!1{1"
e 2
' £4% txtgal olg
-4///® % C:\‘
o B
n w s & g
#2 RS F6)) & &
/(A7) }
N
Z7 3=
— LY
o~ N
< = -
. = —! = b
- Z . S§l
T M= ] %@
[ I = 5t < &) W ]
9= —
- 5 ¢ 2 5®
N ~ - 8
E —— 8 w
S P RS VA 2|z
7 - = = — -|=
Sife ==j o =
T T 0 8 2 =5
W 4260 [ ] S ~ B x
1% ] E4R: 1868 N
e =
; g N
et 12 = — %
IN =E
I'4 abE
NE— | R ;%‘
‘7 3| 8|
2 8Ix
AEE
g~ TS
IS I % b=y
Z @
(s
2 —f
[se}
B fani )
s
gﬁﬁgf
%E 5
% S
D X

(#18R)



